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}Zolour management for output linearization of a 9 step grey scale
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Colour management for output linearization of a 9 step grey scale
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Three, 5 and 9 colour steps for visual evaluation

NOOr  NO8r  N16r NOOr  NO4r
Three, 5 and 9 colour steps, humeric specification
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r: 0, 108, 270, 435, 600, 710, 820, 928, 1000
Three, 5 and 9 colour steps, produced visual linearization
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s: 0, 125, 250, 375, 500, 625, 750, 875,
Black NOOr — Black N16r = Red R

NO6r
377?

N12r N16r

25? 50?
e02=0, .

cl=e02*b]

e48=0, .
b3=e48*
(1-b2)+b2

c24=0, .
c3=e24*
(b2-b1)+b

i 0, 143, 230, 314, 390, 524, 658,
Black NOOr — Black N16r = Red R

N12r N16r NOOr NO2r

N10r
627

e46=0, .

cb=e46*
(b3-b2)+bi
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1909 5, o, u=[50/10g(5)] log(Y/Yy)+50, YN =4, Yy=20, Y\y =100
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787L’§LPQBLOG,U :[50llog(5)] Iog(Y/YU )+50, YN =4, YU =20, YW =100
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N_R with 3, 5 and 9 steps, outdtgb*) 1.0 & experimental; surround mean Grey U=N08w
C M Y 6] L

\Y




